THE ODISHA STATE POLICE HOUSING & WELFARE CORPORATION LTD. JANAPATH, BHOINAGAR, BHUBANESWAR - 22

[Electrical Division]

Ph: 0674-2541545, 2542921, Fax: 0674-2541543

E-mail:-pmelectricalophwc2021@gmail.com, Website: www.ophwc.nic.in

PRICE BID FOR THE WORK UNDER SL. NO :- 01 AS PER IFB

NAME OF THE WORK :- ELECTRICAL WIRING TO AIR-CONDITIONER & UPS POINTS IN NEW EXAMINATION BLOCK OF MSCB UNIVERSITY, BARIPADA.

BID REF NO :- 11/PM/ELECT/OPHWC/2024-25

NAME &
ADDRESS
OF THE
FIRM

SCHEDULE OF WORKS

	SCHEDOLE	OI WOM	_		
SI. No.	Description of work	Unit	Qty.	Estimated Cost in Rs. RATE IN RS. AMOUNT IN R	
1	40000946 Recessed wiring to Angle Holder Point (MODULAR) with 1.5 sq.mm FR PVC insulated single core multistrand copper conductor of ISI marked with 20 mm dia non metalic PVC flexible conduit with 5 Amp, 250 V one way modular switch ISI marked and ceiling rose ISI marked mounted on MS Box having front bakelight cover of suitable size, MS Box with 1.0 sq.mm FR PVC insulated single core multistrand copper conductor as earth wire including all accessories and connection. (Make of wire Finolex / Anchor / Havells/V guard/KEI) Make-switch /Angle holder- Legrand /Wipro-North West /Anchor- Panasonic/ havells)(Make of PVC pipe- AKG/NORPACK)				
		NO	7	1161.89	8,133.2

2	A0000949 Recessed wiring to Tube Light Point (MODULAR) with 1.5 sq.mm FR PVC insulated single core multistrand copper conductor of ISI marked with 20 mm dia non metalic PVC flexible conduit with 5 Amp, 250 V one way modular switch ISI marked and ceiling rose ISI marked mounted on MS Box having front bakelight cover of suitable size, MS Box with 1.0 sq.mm FR PVC insulated single core multistrand copper conductor as earth wire including all accessories and connection. (Make of wire Finolex / Anchor / Havels/ V guard/KEI)(Make-switch/ceiling rose- Legrand /Wipro-North West /Anchor- Panasonic/ havells)(Make of PVC pipe- AKG/NORPACK)				
3	Ground Floor	NO	16	1170.8	18,732.80
	40000967 Recessed wiring to Ceiling Light Point (MODULAR) with 1.5 sq.mm FR PVC insulated single core multistrand copper conductor of ISI marked with 20 mm dia non metalic PVC flexible conduit with 5 Amp, 250 V one way modular switch ISI marked and ceiling rose ISI marked mounted on MS Box having front bakelight cover of suitable size, MS Box with 1.0 sq.mm FR PVC insulated single core multistrand copper conductor as earth wire including all accessories and connection . (Make of wire Finolex / Anchor / Havels/ V guard/KEI) Make-switch-Legrand /Wipro-North West /Anchor-Panasonic/ havells)(Make of PVC pipe-AKG/NORPACK)				
	Ground Floor	NO	24	1170.77	28,098.48

4	40000973 Recessed wiring to Exhaust fan Point (MODULAR)with 1.5 sq.mm FR PVC insulated single core multistrand copper conductor of ISI marked with 20 mm dia non metalic PVC flexible conduit with 5 Amp, 250 V modular type switch ISI marked and ceiling rose ISI marked mounted on MS Box having front bakelight cover of suitable size, MS Box with 1.0 sq.mm FR PVC insulated single core multistrand copper conductor as earth wire including all accessories and connection . (Make of wire Finolex / Anchor / Havels/ V guard/KEI) Make-switch/ceiling rose-Legrand /Wipro-North West /Anchor-Panasonic/ havells)(Make of PVC pipe-AKG/NORPACK)				
5	Ground Floor 40000982 Point wiring for 5/ 6 amp socket outlet (MODULAR) with 1.5 sq.mm FR PVC insulated single core multistrand copper conductor ISI marked in recess 20 mm dia non metalic PVC flexible conduit with 5 Amp, 250 V modular type switch & socket , phenolic laminated sheet suitable size ISI marked MS Box & earthing Point with 1 x 1.5 sq.mm FR PVC insulated single core multistrand copper conductor for loop earthing etc . (Make of wire Finolex / Anchor / Havels/ V guard/KEI) Makeswitch/Socket-Legrand /Wipro-North West /Anchor-Panasonic/ havells)(Make of PVC pipe-AKG/NORPACK) Ground Floor	NO	10	1170.77	5,899.40

	T				
6					
	40000988				
	Point wiring for 15/16 amp socket				
	outlet (MODULAR) with 4.0sq.mm FR				
	PVC insulated single core multistrand				
	copper conductor ISI marked in				
	recess 20 mm dia non metalic PVC				
	flexible conduit with 15/16 Amp, 250 V				
	modular type switch & socket ,				
	phenolic laminated sheet suitable size				
	ISI marked MS Box & earthing Point				
	with 1 x 1.5 sq.mm FR PVC insulated				
	single core multistrand copper				
	conductor for loop earthing etc .				
	(Make of wire Finolex / Anchor /				
	Havels/ V guard/KEI) Make-				
	switch/Socket-Legrand /Wipro-North				
	West /Anchor-Panasonic/				
	havells)(Make of PVC pipe-				
	AKG/NORPACK) Ground Floor	NO.		4000.01	E0 ((1 E0
	Ground Floor	NO	49	1033.91	50,661.59
7					
	40000991				
	Point wiring for Computer Point (
	MODULAR) with 2.5 sq.mm FR PVC				
	insulated single core multistrand				
	copper conductor ISI marked in				
	recess 20 mm dia non metalic PVC				
	flexible conduit with3 Nos of 5 Amp,				
	250 V modular type switch & socket,				
	phenolic laminated sheet suitable size				
	ISI marked MS Box & earthing Point				
	with 1 x 1.5 sq.mm FR PVC insulated				
	single core multistrand copper				
	conductor for loop earthing etc.				
	(Make of wire Finolex / Anchor /				
	Havels/ V guard/KEI) Make-				
	switch/Socket-Legrand /Wipro-North				
	West /Anchor-Panasonic/				
	havells)(Make of PVC pipe-				
	AKG/NORPACK)				
	Ground Floor	NO	27	1556	42,012.00
8					
	40001000				
	Recessed wiring to submain in 2 x 2.5				
	sqmm FR PVC insulated single core				
	multistarnd copper conductor of ISI				
	marked confirming to IS-694/1990 in				
	20 mm dia non metalic heavy duty				
	flexible conduit 1.6 mm thick along				
	with 1 x 1.5 sqmm FR PVC insulated				
	single core multistrand copper				
	conductor as earth wire as required				
	(Make of wire Finolex / Anchor /				
	Havelis/ V guard/KEI) CSR SL .No-				
	1.8.2)(Make of PVC pipe-				
	AKG/NORPACK)				
1	Ground Floor	MTR	940	168.88	1,58,747.20
	Jordana i 1001	I I I I I I I I I I I I I I I I I I I	I 940	100.00	1,50,747.20

	<u> </u>				
9	40001003 Recessed wiring to submain in 2 x 4 sqmm FR PVC insulated single core multistarnd copper conductor of ISI marked confirming to IS-694/1990 in 20 mm dia non metalic heavy duty flexible conduit 1.6 mm thick along with 1 x 1.5 sqmm FR PVC insulated single core multistrand copper conductor as earth wire as required (Make of wire Finolex / Anchor / Havells/ V guard/KEI) CSR SL .No-1.8.3)(Make of PVC pipe-AKG/NORPACK)				
	Ground Floor	MTR	1810	186.06	3,36,768.60
10	40001012 Recessed wiring to submain in 4 x 6 sqmm FR PVC insulated single core multistarnd copper conductor of ISI marked confirming to IS-694/1990 in 32 mm dia non metalic heavy duty flexible conduit 1.6 mm thick along with 2 x 2.5 sqmm FR PVC insulated single core multistrand copper conductor as earth wire as required (Make of wire Finolex / Anchor / Havells/ V guard/KEI) CSR SL .No-1.8.10)(Make of PVC pipe-AKG/NORPACK)	MTD	100	242.04	56 247 20
11	G. G	MTR	180	313.04	56,347.20
11	40001015 Recessed wiring to submain in 4 x 10 sqmm FR PVC insulated single core multistarnd copper conductor of ISI marked confirming to IS-694/1990 in 32 mm dia non metalic heavy duty flexible conduit 1.6 mm thick along with 2 x 4 sqmm FR PVC insulated single core multistrand copper conductor as earth wire as required (Make of wire Finolex / Anchor / Havells/ V guard/KEI) CSR SL .No-1.8.11)(Make of PVC pipe-AKG/NORPACK)	MTR	70	439.28	30,749.60
12		14111/	70	703.20	50,777.00
	40001051 Supply and laying of 150 sq.mm 3.5 core PVC Al. Arm Cableof 1.1 KV grade ISI Marked direct in ground including excavation, sand cushioning, protective covering and refilling the trench etc. as required. (SI. No -25 sl no- 5.1.2)(MAKE CABLE - FINOLEX/ HAVELLS/ POLYCAB/ KEI) Ground Floor	MTR	75	977.04	73,278.00

13		I	1			
Supplying and fixing of 6"X4" 16/18 swg.2" deep G.I box of following size on surface/ recesses with suitable size of 3mm thick phenolic laminated sheet cover in front including cutting the wall and making good the same case of recessed conduit as required.(csr s.i.no-1.24.5)(Make-National / Royalam) Ground Floor NO 4 52.66 210.64 14 40001135 Supplying and fixing of 8"X10" 16/18 swg.2" deep G.I box of following size on surface / recesses with suitable size of 3mm thick phenolic laminated sheet cover in front including cutting the wall and making good the same case of recessed conduit as required.(csr s.i.no-1.24.5)(Make-(National / Royalam) Ground Floor NO 4 115.98 463.92 15 40001141 Supplying and fixing of two modular GI Box 18 swg with Modular base & cover for 2 module (SI. No-1301,1421)(Make-switch/Sock t-Legrand/Wipro/ Anchor-Panasonic/ havells) Ground Floor 40001145 Supplying and fixing of 4 modular GI Box 18 swg with Modular base & cover for 4 module (SI. No-1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ havells) Ground Floor NO 4 170.63 682.52 40001148 Supplying and fixing of 6 modular GI Box 18 swg with Modular base & cover for 6 module (SI. No-1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ havells) Ground Floor NO 4 228.7 914.80 40001151 Supplying and fixing of 8 modular GI Box 18 swg with Modular base & cover for 6 module (SI. No-1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ havells) Ground Floor NO 4 228.7 914.80	13					
swg.2" deep G.I box of following size on surface / recess with suitable size of 3mm thick phenolic laminated sheet cover in front including cutting the wall and making good the same case of recessed conduit as required.(csr s. I.no-1.24.5)(Make-National / Royalam) Ground Floor NO 4 52.66 210.64 40001135 Supplying and fixing of 8"X10" 16/18 swg.2" deep G.I box of following size on surface / recesss with suitable size of 3mm thick phenolic laminated sheet cover in front including cutting the wall and making good the same case of recessed conduit as required.(csr s. I.no-1.24.5)(Make-(National / Royalam) Ground Floor NO 4 115.98 463.92 15 40001141 Supplying and fixing of two modular GI Box 18 swg with Modular base & cover for 2 module (SI. No-1301.1421)(Make-switch/Socke t-Legrand/Wipro/ Anchor-Panasonic/ havells) Ground Floor NO 4 123.81 495.24 40001145 Supplying and fixing of 4 modular GI Box 18 swg with Modular base & cover for 4 module (SI. No-1301.1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ havells) Ground Floor NO 4 170.63 682.52 40001148 Supplying and fixing of 6 modular GI Box 18 swg with Modular base & cover for 6 module (SI. No-1301.1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ havells) Ground Floor NO 4 228.7 914.80 40001145 Supplying and fixing of 8 modular GI Box 18 swg with Modular base & cover for 6 module (SI. No-1301.1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ havells) Ground Floor NO 4 228.7 914.80 40001146 Supplying and fixing of 8 modular GI Box 18 swg with Modular base & cover for 6 module (SI. No-1301.1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ havells) Ground Floor NO 4 228.7 914.80						
on surface / recesse with suitable size of 3mm thick phenolic laminated sheet cover in front including cutting the wall and making good the same case of recessed conduit as required.(csr s l.no-1,24.5)(Make-National / Royalam) Ground Floor 14 40001135 Supplying and fixing of 8"X10" 16/18 swg,2" deep G.I box of following size on surface / recesse with suitable size of 3mm thick phenolic laminated sheet cover in front including cutting the wall and making good the same case of recessed conduit as required.(csr sl.no-1,24.5)(Make-National / Royalam) Ground Floor 15 40001141 Supplying and fixing of two modular GI Box 18 swg with Modular base & cover for 2 module (Sl. No-1301,1421)(Make-switch/Socke t-Legrand/Wipro/ Anchor-Panasonic/ havells) Ground Floor 40001145 Supplying and fixing of 4 modular GI Box 18 swg with Modular base & cover for 4 module (Sl. No-1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ havells) Ground Floor 40001148 Supplying and fixing of 6 modular GI Box 18 swg with Modular base & cover for 6 module (Sl. No-1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ havells) Ground Floor 40001151 Supplying and fixing of 8 modular GI Box 18 swg with Modular base & cover for 6 module (Sl. No-1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ havells) Ground Floor 40001161 Supplying and fixing of 8 modular GI Box 18 swg with Modular base & cover for 6 module (Sl. No-1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ havells) Ground Floor 40001161 Supplying and fixing of 8 modular GI Box 18 swg with Modular base & cover for 8 module (Sl. No-1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ havells)		,, .				
of 3mm thick phenolic laminated sheet cover in front including cutting the wall and making good the same case of recessed conduit as required. (csr s I.no-1.24.5) (Make-National / Royalam) Ground Floor NO 4 52.66 210.64 14 40001135 Supplying and fixing of 8"X10" 16/18 swg,2" deep G.I box of following size on surface / recesses with suitable size of 3mm thick phenolic laminated sheet cover in front including cutting the wall and making good the same case of recessed conduit as required.(csr sl.no-1.24.5) (Make-(National / Royalam) Ground Floor NO 4 115.98 463.92 15 40001141 Supplying and fixing of two modular GI Box 18 swg with Modular base & cover for 2 module (Sl. No-1301,1421) (Make-switch/Sock t-Legrand/Wipro/ Anchor-Panasonic/ havells) Ground Floor NO 4 123.81 495.24 40001145 Supplying and fixing of 4 modular GI Box 18 swg with Modular base & cover for 4 module (Sl. No-1301,1421) (Make-Legrand/Wipro/ Anchor-Panasonic/ havells) Ground Floor NO 4 170.63 682.52 40001148 Supplying and fixing of 6 modular GI Box 18 swg with Modular base & cover for 4 module (Sl. No-1301,1421) (Make-Legrand/Wipro/ Anchor-Panasonic/ havells) Ground Floor NO 4 228.7 914.80 40001148 Supplying and fixing of 8 modular GI Box 18 swg with Modular base & cover for 6 module (Sl. No-1301,1421) (Make-Legrand/Wipro/ Anchor-Panasonic/ havells) Ground Floor NO 4 228.7 914.80						
sheet cover in front including cutting the wall and making good the same case of recessed conduit as required.(csr s l.no-1.24.5)(Make-National / Royalam) Ground Floor 14 40001135 Supplying and fixing of 8"X10" 16/18 swg.2" deep G.I box of following size on surface / recesss with suitable size of 3mm thick phenolic laminated sheet cover in front including cutting the wall and making good the same case of recessed conduit as required.(csr s.l.no-1.24.5)(Make-(National / Royalam) Ground Floor NO 4 115.98 463.92 15 40001141 Supplying and fixing of two modular GI Box 18 swg with Modular base & cover for 2 module (SI. No-1301,1421)(Make-switch/Socke t-Legrand/Wipro/ Anchor-Panasonic/ havells) Ground Floor 40001145 Supplying and fixing of 4 modular GI Box 18 swg with Modular base & cover for 4 module (SI. No-1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ havells) Ground Floor 40001148 Supplying and fixing of 6 modular GI Box 18 swg with Modular base & cover for 6 module (SI. No-1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ havells) Ground Floor 40001148 Supplying and fixing of 6 modular GI Box 18 swg with Modular base & cover for 6 module (SI. No-1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ havells) Ground Floor 16 cover for 8 module (SI. No-1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ havells) Ground Floor 17 0.4 228.7 914.80 18 0.7 914.80 19 0.7 914.80 19 0.7 914.80 10 0.7 914.80						
the wall and making good the same case of recessed conduit as required.(csr s I.no-1.24.5)(Make-National / Royalam) Ground Floor 14 40001135 Supplying and fixing of 8"X10" 16/18 swg.2" deep G.I box of following size on surface / recesse with suitable size of 3mm thick phenolic laminated sheet cover in front including cutting the wall and making good the same case of recessed conduit as required.(csr s I.no-1.24.5)(Make-(National / Royalam) Ground Floor 15 40001141 Supplying and fixing of two modular GI Box 18 swg with Modular base & cover for 2 module (SI. No-1301,1421)(Make-switch/Socke t-Legrand/Wipro/ Anchor-Panasonic/ havells) Ground Floor 10001145 Supplying and fixing of 4 modular GI Box 18 swg with Modular base & cover for 4 module (SI. No-1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ havells) Ground Floor 40001148 Supplying and fixing of 6 modular GI Box 18 swg with Modular base & cover for 6 module (SI. No-1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ havells) Ground Floor 40001141 Supplying and fixing of 6 modular GI Box 18 swg with Modular base & cover for 6 module (SI. No-1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ havells) Ground Floor 1001148 Supplying and fixing of 8 modular GI Box 18 swg with Modular base & cover for 6 module (SI. No-1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ havells) Ground Floor 1001148 Supplying and fixing of 8 modular GI Box 18 swg with Modular base & cover for 8 module (SI. No-1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ havells) Ground Floor 1001148 Supplying and fixing of 8 modular GI Box 18 swg with Modular base & cover for 8 module (SI. No-1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ havells)		-				
Case of recessed conduit as required.(csr s l.no-1.24.5)(Make-National / Royalam) Ground Floor						
required.(csr s I.no-1.24.5)(Make-National / Royalam) Ground Floor 14 40001135 Supplying and fixing of 8"X10" 16/18 swg, 2" deep G.I box of following size on surface / recesss with suitable size of 3mm thick phenolic laminated sheet cover in front including cutting the wall and making good the same case of recessed conduit as required.(csr sl.no-1.24.5)(Make-(National / Royalam) Ground Floor 15 40001141 Supplying and fixing of two modular GI Box 18 swg with Modular base & cover for 2 module (Sl. No-1301,1421)(Make-switch/Socke t-Legrand/Wipro/ Anchor-Panasonic/ havells) Ground Floor 1001145 Supplying and fixing of 4 modular GI Box 18 swg with Modular base & cover for 4 module (Sl. No-1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ havells) Ground Floor 10001148 Supplying and fixing of 6 modular GI Box 18 swg with Modular base & cover for 6 module (Sl. No-1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ havells) Ground Floor 10001148 Supplying and fixing of 6 modular GI Box 18 swg with Modular base & cover for 6 module (Sl. No-1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ havells) Ground Floor 10001151 Supplying and fixing of 8 modular GI Box 18 swg with Modular base & cover for 8 module (Sl. No-1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ havells) Ground Floor 10001151 Supplying and fixing of 8 modular GI Box 18 swg with Modular base & cover for 8 module (Sl. No-1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ havells) Ground Floor 10001151 Supplying and fixing of 8 modular GI Box 18 swg with Modular base & cover for 8 module (Sl. No-1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ havells)						
National / Royalam) Ground Floor NO 4 52.66 210.64 14 40001135 Supplying and fixing of 8"X10" 16/18 swg.2" deep G.I box of following size on surface / recess with suitable size of 3mm thick phenolic laminated sheet cover in front including cutting the wall and making good the same case of recessed condult as required.(csr sl.no-1.24.5)(Make-(National / Royalam) Ground Floor NO 4 115.98 463.92 15 40001141 Supplying and fixing of two modular GI Box 18 swg with Modular base & cover for 2 module (Sl. No-1301,1421)(Make-switch/Socke t-Legrand/Wipro/ Anchor-Panasonic/ havells) Ground Floor NO 4 123.81 495.24 40001145 Supplying and fixing of 4 modular GI Box 18 swg with Modular base & cover for 4 module (Sl. No-1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ havells) Ground Floor NO 4 170.63 682.52 40001148 Supplying and fixing of 6 modular GI Box 18 swg with Modular base & cover for 6 module (Sl. No-1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ havells) Ground Floor NO 4 228.7 914.80 40001151 Supplying and fixing of 8 modular GI Box 18 swg with Modular base & cover for 6 module (Sl. No-1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ havells) Ground Floor NO 4 228.7 914.80						
Ground Floor 14 40001135 Supplying and fixing of 8"X10" 16/18 swg,2" deep G.I box of following size on surface / recess with suitable size of 3mm thick phenolic laminated sheet cover in front including cutting the wall and making good the same case of recessed conduit as required.(csr sl.no-1.24.5)(Make-(National / Royalam) Ground Floor 15 40001141 Supplying and fixing of two modular GI Box 18 swg with Modular base & cover for 2 module (SI. No-1301,1421)(Make-switch/Sock et-Legrand/Wipro/ Anchor-Panasonic/ havells) Ground Floor 40001145 Supplying and fixing of 4 modular GI Box 18 swg with Modular base & cover for 4 module (SI. No-1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ havells) Ground Floor 40001148 Supplying and fixing of 6 modular GI Box 18 swg with Modular base & cover for 6 module (SI. No-1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ havells) Ground Floor 40001148 Supplying and fixing of 6 modular GI Box 18 swg with Modular base & cover for 6 module (SI. No-1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ havells) Ground Floor 40001151 Supplying and fixing of 8 modular GI Box 18 swg with Modular base & cover for 6 module (SI. No-1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ havells) Ground Floor 40001151 Supplying and fixing of 8 modular GI Box 18 swg with Modular base & cover for 6 module (SI. No-1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ havells)		1				
14 40001135 Supplying and fixing of 8"X10" 16/18 swg,2" deep G.I box of following size on surface / recesses with suitable size of 3mm thick phenolic laminated sheet cover in front including cutting the wall and making good the same case of recessed conduit as required.(csr sl.no-1.24.5)(Make-(National / Royalam) Ground Floor NO 4 115.98 463.92 15 40001141 Supplying and fixing of two modular GI Box 18 swg with Modular base & cover for 2 module (Sl. No-1301,1421)(Make-switch/Socket-Legrand/Wipro/ Anchor-Panasonic/ havells) Ground Floor NO 4 123.81 495.24 40001145 Supplying and fixing of 4 modular GI Box 18 swg with Modular base & cover for 4 module (Sl. No-1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ havells) Ground Floor NO 4 170.63 682.52 40001148 Supplying and fixing of 6 modular GI Box 18 swg with Modular base & cover for 6 module (Sl. No-1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ havells) Ground Floor NO 4 228.7 914.80 40001151 Supplying and fixing of 8 modular GI Box 18 swg with Modular base & cover for 6 module (Sl. No-1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ havells) Ground Floor NO 4 228.7 914.80			NO		E2 66	210.64
40001135 Supplying and fixing of 8"X10" 16/18 swg,2" deep G.I box of following size on surface / recesses with suitable size of 3mm thick phenolic laminated sheet cover in front including cutting the wall and making good the same case of recessed conduit as required. (csr sl.no-1.24.5)(Make-(National / Royalam) Ground Floor 15 40001141 Supplying and fixing of two modular GI Box 18 swg with Modular base & cover for 2 module (SI. No-1301,1421)(Make-switch/Socke t-Legrand/Wipro/ Anchor-Panasonic/ havells) Ground Floor 40001145 Supplying and fixing of 4 modular GI Box 18 swg with Modular base & cover for 4 module (SI. No-1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ havells) Ground Floor 40001148 Supplying and fixing of 6 modular GI Box 18 swg with Modular base & cover for 6 module (SI. No-1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ havells) Ground Floor 40001148 Supplying and fixing of 6 modular GI Box 18 swg with Modular base & cover for 6 module (SI. No-1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ havells) Ground Floor 40001151 Supplying and fixing of 8 modular GI Box 18 swg with Modular base & cover for 6 module (SI. No-1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ havells) Ground Floor 40001151 Supplying and fixing of 8 modular GI Box 18 swg with Modular base & cover for 8 module (SI. No-1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ havells)	14		INO	4	52.00	210.04
Supplying and fixing of 8"X10" 16/18 swg,2" deep G. I box of following size on surface/ recesss with suitable size of 3mm thick phenolic laminated sheet cover in front including cutting the wall and making good the same case of recessed conduit as required.(csr sl.no-1.24.5)(Make- (National / Royalam) Ground Floor NO 4 115.98 463.92 15 40001141 Supplying and fixing of two modular GI Box 18 swg with Modular base & cover for 2 module (Sl. No- 1301,1421)(Make-switch/Socke t- Legrand/Wipro/ Anchor-Panasonic/ havells) Ground Floor NO 4 123.81 495.24 40001145 Supplying and fixing of 4 modular GI Box 18 swg with Modular base & cover for 4 module (Sl. No- 1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ havells) Ground Floor NO 4 170.63 682.52 40001148 Supplying and fixing of 6 modular GI Box 18 swg with Modular base & cover for 6 module (Sl. No- 1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ havells) Ground Floor NO 4 228.7 914.80 40001151 Supplying and fixing of 8 modular GI Box 18 swg with Modular base & cover for 8 module (Sl. No- 1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ havells) Ground Floor NO 4 228.7 914.80	14					
swg,2 " deep G.I box of following size on surface / recesses with suitable size of 3mm thick phenolic laminated sheet cover in front including cutting the wall and making good the same case of recessed conduit as required.(csr sl.no-1.24.5)(Make-(National / Royalam) Ground Floor NO 4 115.98 463.92 15 40001141 Supplying and fixing of two modular GI Box 18 swg with Modular base & cover for 2 module (Sl. No-1301,1421)(Make-switch/Socke t-Legrand/Wipro/ Anchor-Panasonic/ havells) Ground Floor NO 4 123.81 495.24 40001145 Supplying and fixing of 4 modular GI Box 18 swg with Modular base & cover for 4 module (Sl. No-1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ havells) Ground Floor NO 4 170.63 682.52 40001148 Supplying and fixing of 6 modular GI Box 18 swg with Modular base & cover for 6 module (Sl. No-1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ havells) Ground Floor NO 4 228.7 914.80 40001151 Supplying and fixing of 8 modular GI Box 18 swg with Modular base & cover for 6 module (Sl. No-1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ havells) Ground Floor NO 4 228.7 914.80 40001151 Supplying and fixing of 8 modular GI Box 18 swg with Modular base & cover for 8 module (Sl. No-1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ havells)		1				
on surface / recesses with suitable size of 3mm thick phenolic laminated sheet cover in front including cutting the wall and making good the same case of recessed conduit as required, (csr sl.no-1.24.5) (Make-(National / Royalam) Ground Floor NO 4 115.98 463.92 15 40001141 Supplying and fixing of two modular GI Box 18 swg with Modular base & cover for 2 module (Sl. No-1301,1421) (Make-switch/Socke t-Legrand/Wipro/ Anchor-Panasonic/ havells) Ground Floor NO 4 123.81 495.24 40001145 Supplying and fixing of 4 modular GI Box 18 swg with Modular base & cover for 4 module (Sl. No-1301,1421) (Make-Legrand/Wipro/ Anchor-Panasonic/ havells) Ground Floor NO 4 170.63 682.52 40001148 Supplying and fixing of 6 modular GI Box 18 swg with Modular base & cover for 6 module (Sl. No-1301,1421) (Make-Legrand/Wipro/ Anchor-Panasonic/ havells) Ground Floor NO 4 228.7 914.80 40001151 Supplying and fixing of 8 modular GI Box 18 swg with Modular base & cover for 8 module (Sl. No-1301,1421) (Make-Legrand/Wipro/ Anchor-Panasonic/ havells) Ground Floor NO 4 228.7 914.80						
of 3mm thick phenolic laminated sheet cover in front including cutting the wall and making good the same case of recessed conduit as required.(csr sl.no-1.24.5)(Make-(National / Royalam) Ground Floor 15 40001141 Supplying and fixing of two modular GI Box 18 swg with Modular base & cover for 2 module (Sl. No-1301,1421)(Make-switch/Socke t-Legrand/Wipro/ Anchor-Panasonic/ haveils) Ground Floor 40001145 Supplying and fixing of 4 modular GI Box 18 swg with Modular base & cover for 4 module (Sl. No-1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ haveils) Ground Floor 40001148 Supplying and fixing of 6 modular GI Box 18 swg with Modular base & cover for 4 module (Sl. No-1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ haveils) Ground Floor 40001148 Supplying and fixing of 6 modular GI Box 18 swg with Modular base & cover for 6 module (Sl. No-1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ haveils) Ground Floor 40001151 Supplying and fixing of 8 modular GI Box 18 swg with Modular base & cover for 8 module (Sl. No-1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ haveils) Ground Floor 40001151 Supplying and fixing of 8 modular GI Box 18 swg with Modular base & cover for 8 module (Sl. No-1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ haveils)						
sheet cover in front including cutting the wall and making good the same case of recessed conduit as required.(csr sl.no-1.24.5)(Make-(National / Royalam) Ground Floor 15 40001141 Supplying and fixing of two modular GI Box 18 swg with Modular base & cover for 2 module (Sl. No-1301,1421)(Make-switch/Socket-Legrand/Wipro/ Anchor-Panasonic/ havells) Ground Floor 40001145 Supplying and fixing of 4 modular GI Box 18 swg with Modular base & cover for 4 module (Sl. No-1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ havells) Ground Floor 40001148 Supplying and fixing of 6 modular GI Box 18 swg with Modular base & cover for 6 module (Sl. No-1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ havells) Ground Floor 40001148 Supplying and fixing of 6 modular GI Box 18 swg with Modular base & cover for 6 module (Sl. No-1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ havells) Ground Floor 40001151 Supplying and fixing of 8 modular GI Box 18 swg with Modular base & cover for 8 module (Sl. No-1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ havells)						
the wall and making good the same case of recessed conduit as required.(csr sl.no-1.24.5)(Make-(National / Royalam) Ground Floor NO 4 115.98 463.92 15 40001141 Supplying and fixing of two modular GI Box 18 swg with Modular base & cover for 2 module (Sl. No-1301,1421)(Make-switch/Socke t-Legrand/Wipro/ Anchor-Panasonic/ havells) Ground Floor NO 4 123.81 495.24 40001145 Supplying and fixing of 4 modular GI Box 18 swg with Modular base & cover for 4 module (Sl. No-1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ havells) Ground Floor NO 4 170.63 682.52 40001148 Supplying and fixing of 6 modular GI Box 18 swg with Modular base & cover for 6 module (Sl. No-1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ havells) Ground Floor NO 4 228.7 914.80 40001151 Supplying and fixing of 8 modular GI Box 18 swg with Modular base & cover for 6 module (Sl. No-1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ havells) Ground Floor NO 4 228.7 914.80		<u>-</u>				
case of recessed conduit as required.(csr sl.no-1.24.5)(Make-(National / Royalam) Ground Floor NO 15 40001141 Supplying and fixing of two modular GI Box 18 swg with Modular base & cover for 2 module (Sl. No-1301,1421)(Make-switch/Socke t-Legrand/Wipro/ Anchor-Panasonic/ havells) Ground Floor NO 4 123.81 495.24 40001145 Supplying and fixing of 4 modular GI Box 18 swg with Modular base & cover for 4 module (Sl. No-1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ havells) Ground Floor NO 4 170.63 682.52 40001148 Supplying and fixing of 6 modular GI Box 18 swg with Modular base & cover for 6 module (Sl. No-1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ havells) Ground Floor NO 4 228.7 914.80 40001151 Supplying and fixing of 8 modular GI Box 18 swg with Modular base & cover for 6 module (Sl. No-1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ havells) Ground Floor NO 4 228.7 914.80						
required.(csr sl.no-1.24.5)(Make- (National / Royalam) Ground Floor NO 4 115.98 463.92 15 40001141 Supplying and fixing of two modular Gl Box 18 swg with Modular base & cover for 2 module (Sl. No- 1301,1421)(Make-switch/Socke t- Legrand/Wipro/ Anchor-Panasonic/ havells) Ground Floor NO 4 123.81 495.24 40001145 Supplying and fixing of 4 modular Gl Box 18 swg with Modular base & cover for 4 module (Sl. No- 1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ havells) Ground Floor NO 4 170.63 682.52 40001148 Supplying and fixing of 6 modular Gl Box 18 swg with Modular base & cover for 6 module (Sl. No- 1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ havells) Ground Floor NO 4 228.7 914.80 40001151 Supplying and fixing of 8 modular Gl Box 18 swg with Modular base & cover for 8 module (Sl. No- 1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ havells)						
(National / Royalam) Ground Floor NO 4 115.98 463.92 15 40001141 Supplying and fixing of two modular Gl Box 18 swg with Modular base & cover for 2 module (Sl. No- 1301,1421)(Make-switch/Socke t- Legrand/Wipro/ Anchor-Panasonic/ havells) Ground Floor NO 4 123.81 495.24 40001145 Supplying and fixing of 4 modular Gl Box 18 swg with Modular base & cover for 4 module (Sl. No- 1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ havells) Ground Floor NO 4 170.63 682.52 40001148 Supplying and fixing of 6 modular Gl Box 18 swg with Modular base & cover for 6 module (Sl. No- 1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ havells) Ground Floor NO 4 228.7 914.80 40001151 Supplying and fixing of 8 modular Gl Box 18 swg with Modular base & cover for 8 module (Sl. No- 1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ havells)						
15 40001141 Supplying and fixing of two modular GI Box 18 swg with Modular base & cover for 2 module (SI. No-1301,1421)(Make-switch/Socke t-Legrand/Wipro/ Anchor-Panasonic/ havells) Ground Floor 40001145 Supplying and fixing of 4 modular GI Box 18 swg with Modular base & cover for 4 module (SI. No-1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ havells) Ground Floor NO 4 170.63 682.52 40001148 Supplying and fixing of 6 modular GI Box 18 swg with Modular base & cover for 6 module (SI. No-1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ havells) Ground Floor NO 4 228.7 914.80 40001151 Supplying and fixing of 8 modular GI Box 18 swg with Modular base & cover for 8 module (SI. No-1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ havells)		1				
Supplying and fixing of two modular GI Box 18 swg with Modular base & cover for 2 module (SI. No- 1301,1421)(Make-switch/Socke t- Legrand/Wipro/ Anchor-Panasonic/ havells) Ground Floor MO 40001145 Supplying and fixing of 4 modular GI Box 18 swg with Modular base & cover for 4 module (SI. No- 1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ havells) Ground Floor MO 4 170.63 682.52 40001148 Supplying and fixing of 6 modular GI Box 18 swg with Modular base & cover for 6 module (SI. No- 1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ havells) Ground Floor NO 4 228.7 914.80 40001151 Supplying and fixing of 8 modular GI Box 18 swg with Modular base & cover for 8 module (SI. No- 1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ havells)		Ground Floor	NO	4	115.98	463.92
GI Box 18 swg with Modular base & cover for 2 module (SI. No- 1301,1421)(Make-switch/Socke t- Legrand/Wipro/ Anchor-Panasonic/ havells) Ground Floor NO 4 123.81 495.24 40001145 Supplying and fixing of 4 modular GI Box 18 swg with Modular base & cover for 4 module (SI. No- 1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ havells) Ground Floor NO 4 170.63 682.52 40001148 Supplying and fixing of 6 modular GI Box 18 swg with Modular base & cover for 6 module (SI. No- 1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ havells) Ground Floor NO 4 228.7 914.80 40001151 Supplying and fixing of 8 modular GI Box 18 swg with Modular base & cover for 8 module (SI. No- 1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ havells)	15	40001141				
GI Box 18 swg with Modular base & cover for 2 module (SI. No- 1301,1421)(Make-switch/Socke t- Legrand/Wipro/ Anchor-Panasonic/ havells) Ground Floor NO 4 123.81 495.24 40001145 Supplying and fixing of 4 modular GI Box 18 swg with Modular base & cover for 4 module (SI. No- 1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ havells) Ground Floor NO 4 170.63 682.52 40001148 Supplying and fixing of 6 modular GI Box 18 swg with Modular base & cover for 6 module (SI. No- 1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ havells) Ground Floor NO 4 228.7 914.80 40001151 Supplying and fixing of 8 modular GI Box 18 swg with Modular base & cover for 8 module (SI. No- 1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ havells)		Supplying and fixing of two modular				
1301,1421)(Make-switch/Socke t- Legrand/Wipro/ Anchor-Panasonic/ havells) Ground Floor NO 4 123.81 495.24 40001145 Supplying and fixing of 4 modular GI Box 18 swg with Modular base & cover for 4 module (SI. No- 1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ havells) Ground Floor NO 4 170.63 682.52 40001148 Supplying and fixing of 6 modular GI Box 18 swg with Modular base & cover for 6 module (SI. No- 1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ havells) Ground Floor NO 4 228.7 914.80 40001151 Supplying and fixing of 8 modular GI Box 18 swg with Modular base & cover for 8 module (SI. No- 1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ havells)						
Legrand/Wipro/ Anchor-Panasonic/ havells) Ground Floor NO 4 123.81 495.24 40001145 Supplying and fixing of 4 modular GI Box 18 swg with Modular base & cover for 4 module (SI. No- 1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ havells) Ground Floor NO 4 40001148 Supplying and fixing of 6 modular GI Box 18 swg with Modular base & cover for 6 module (SI. No- 1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ havells) Ground Floor NO 4 228.7 914.80 40001151 Supplying and fixing of 8 modular GI Box 18 swg with Modular base & cover for 6 module (SI. No- 1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ havells) 16 cover for 8 module (SI. No- 1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ havells)		cover for 2 module (SI. No-				
havells) Ground Floor NO 4 123.81 495.24 40001145 Supplying and fixing of 4 modular GI Box 18 swg with Modular base & cover for 4 module (SI. No- 1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ havells) Ground Floor NO 4 170.63 682.52 40001148 Supplying and fixing of 6 modular GI Box 18 swg with Modular base & cover for 6 module (SI. No- 1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ havells) Ground Floor NO 4 228.7 914.80 16 cover for 8 module (SI. No- 1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ havells) 6 cover for 8 module (SI. No- 1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ havells)		1301,1421)(Make-switch/Socke t-				
Ground Floor 40001145 Supplying and fixing of 4 modular GI Box 18 swg with Modular base & cover for 4 module (SI. No- 1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ havells) Ground Floor 40001148 Supplying and fixing of 6 modular GI Box 18 swg with Modular base & cover for 6 module (SI. No- 1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ havells) Ground Floor NO 40001151 Supplying and fixing of 8 modular GI Box 18 swg with Modular base & cover for 8 module (SI. No- 1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ havells) 6 cover for 8 module (SI. No- 1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ havells)						
40001145 Supplying and fixing of 4 modular GI Box 18 swg with Modular base & cover for 4 module (SI. No- 1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ havells) Ground Floor NO 4 170.63 682.52 40001148 Supplying and fixing of 6 modular GI Box 18 swg with Modular base & cover for 6 module (SI. No- 1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ havells) Ground Floor NO 4 228.7 914.80 40001151 Supplying and fixing of 8 modular GI Box 18 swg with Modular base & cover for 8 module (SI. No- 1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ havells)		1				
Supplying and fixing of 4 modular GI Box 18 swg with Modular base & cover for 4 module (SI. No- 1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ havells) Ground Floor 40001148 Supplying and fixing of 6 modular GI Box 18 swg with Modular base & cover for 6 module (SI. No- 1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ havells) Ground Floor NO 4 228.7 914.80 16 Supplying and fixing of 8 modular GI Box 18 swg with Modular base & cover for 8 module (SI. No- 1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ havells)			NO	4	123.81	495.24
Box 18 swg with Modular base & cover for 4 module (SI. No-1301,1421)(Make-Legrand/Wipro/Anchor-Panasonic/ havells) Ground Floor NO 4 170.63 682.52 40001148 Supplying and fixing of 6 modular GI Box 18 swg with Modular base & cover for 6 module (SI. No-1301,1421)(Make-Legrand/Wipro/Anchor-Panasonic/ havells) Ground Floor NO 4 228.7 914.80 40001151 Supplying and fixing of 8 modular GI Box 18 swg with Modular base & cover for 8 module (SI. No-1301,1421)(Make-Legrand/Wipro/Anchor-Panasonic/ havells)						
cover for 4 module (SI. No- 1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ havells) Ground Floor NO 4 170.63 682.52 40001148 Supplying and fixing of 6 modular GI Box 18 swg with Modular base & cover for 6 module (SI. No- 1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ havells) Ground Floor NO 4 228.7 914.80 16 cover for 8 module (SI. No- 1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ havells) Ground Floor NO 4 16 Cover for 8 module (SI. No- 1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ havells)						
1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ havells) Ground Floor NO 4 170.63 682.52 40001148 Supplying and fixing of 6 modular GI Box 18 swg with Modular base & cover for 6 module (SI. No- 1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ havells) Ground Floor NO 4 228.7 914.80 40001151 Supplying and fixing of 8 modular GI Box 18 swg with Modular base & cover for 8 module (SI. No- 1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ havells)		_				
Anchor-Panasonic/ havells) Ground Floor NO 4 170.63 682.52 40001148 Supplying and fixing of 6 modular GI Box 18 swg with Modular base & cover for 6 module (SI. No- 1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ havells) Ground Floor NO 4 228.7 914.80 16 Cover for 8 modular GI Box 18 swg with Modular base & cover for 8 module (SI. No- 1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ havells)		,				
Ground Floor 40001148 Supplying and fixing of 6 modular GI Box 18 swg with Modular base & cover for 6 module (SI. No- 1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ havells) Ground Floor 40001151 Supplying and fixing of 8 modular GI Box 18 swg with Modular base & cover for 8 module (SI. No- 1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ havells) 682.52 4001148 4000151 Supplying and fixing of 8 modular GI Box 18 swg with Modular base & cover for 8 module (SI. No- 1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ havells)						
40001148 Supplying and fixing of 6 modular GI Box 18 swg with Modular base & cover for 6 module (SI. No- 1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ havells) Ground Floor 40001151 Supplying and fixing of 8 modular GI Box 18 swg with Modular base & cover for 8 module (SI. No- 1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ havells)		·	NO	ا م	170 G2	682 52
Supplying and fixing of 6 modular GI Box 18 swg with Modular base & cover for 6 module (SI. No- 1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ havells) Ground Floor NO 4 228.7 914.80 40001151 Supplying and fixing of 8 modular GI Box 18 swg with Modular base & cover for 8 module (SI. No- 1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ havells)			INO	4	170.03	002.32
Box 18 swg with Modular base & cover for 6 module (SI. No-1301,1421)(Make-Legrand/Wipro/Anchor-Panasonic/ havells) Ground Floor 40001151 Supplying and fixing of 8 modular GI Box 18 swg with Modular base & cover for 8 module (SI. No-1301,1421)(Make-Legrand/Wipro/Anchor-Panasonic/ havells)		1				
cover for 6 module (SI. No- 1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ havells) Ground Floor NO 4 228.7 914.80 40001151 Supplying and fixing of 8 modular GI Box 18 swg with Modular base & cover for 8 module (SI. No- 1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ havells)		1 , 6				
1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ havells) Ground Floor NO 4 228.7 914.80 40001151 Supplying and fixing of 8 modular GI Box 18 swg with Modular base & cover for 8 module (SI. No- 1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ havells)						
Anchor-Panasonic/ havells) Ground Floor NO 4 228.7 914.80 40001151 Supplying and fixing of 8 modular GI Box 18 swg with Modular base & cover for 8 module (SI. No- 1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ havells)		`				
Ground Floor 40001151 Supplying and fixing of 8 modular GI Box 18 swg with Modular base & cover for 8 module (SI. No- 1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ havells)						
40001151 Supplying and fixing of 8 modular GI Box 18 swg with Modular base & 16 cover for 8 module (SI. No- 1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ havells)		· · · · · · · · · · · · · · · · · · ·	NO	4	228.7	914.80
Supplying and fixing of 8 modular GI Box 18 swg with Modular base & 16 cover for 8 module (SI. No- 1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ havells)		40001151			, , , , ,	
Box 18 swg with Modular base & cover for 8 module (Sl. No- 1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ havells)						
16 cover for 8 module (SI. No- 1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ havells)						
Anchor-Panasonic/ havells)	16	cover for 8 module (SI. No-				
		•				
		Ground Floor	NO	4	270.11	1,080.44

17	40001154 Supplying and fixing of 12 modular GI Box 18 swg with Modular base & cover for 12 module (SI. No- 1301,1421)(Make-Legrand/Wipro/ Anchor-Panasonic/ havells) Ground Floor	NO	8	381.76	3,054.08
18	40001178 Supply and fixing of 4 way mcb Box with 32 Amp TPN MCB & 12 nos 20 amp SPMCB with sheet steel encloser, distribution board, on surface/recess, complete with tinned copper bus bar, neutral bus bar, earth bar, din bar, detachable gland plate, interconnection, phosphate and power painted including earthing etc as required. (SI. No- 2.7.4, 2.5& 2.9)Make-MCB-(Legrand/L&T/ABB/SCHNIDER)	SET	1	4799.01	4,799.01
19	40001193 Blanking Plate(Make-Legrand /Wipro-NorthWest /Anchor-Panasonic/havells) Ground Floor	NO	15	19.61	294.15
20	40001258 SUPPLY & FIXING OF POWER DISTRIBUTION BOX,MAKE-NET RACK/VAL RACK Ground Floor	NO	2	523.8	1,047.60
	40001295 Supply and fixing of 4 way mcb Box (4+12) with 63 amp 4P Isolator/ 4P MCB & 12 nos 20 amp SPMCB with sheet steel encloser, distribution board, on surface/ recess, complete with tinned copper bus bar, neutral bus bar, earth bar, din bar, detachable gland plate, interconnection, phosphate and power painted including earthing etc as required. Make-MCB- (Legrand/L&T/ABB/SCHNIDER)				
	Ground Floor	SET	7	4500.99	31,506.93

PART-C					
	40001334				
	Recessed wiring to submain in 4 x 16				
	sqmm FR PVC insulated single core				
	multistarnd copper conductor of ISI				
	marked confirming to IS-694/1990 in				
	32 mm dia non metalic heavy duty				
	flexible conduit 1.6 mm thick along				
	with 2 x 10 sqmm FR PVC insulated				
	single core multistrand copper				
	conductor as earth wire as required				
	(Make of wire Finolex / Anchor /				
	Havells/ V guard/KEI) CSR SL .No-				
	1.8.2)(Make of PVC pipe-				
	AKG/NORPACK)				1 00 100 20
	Ground Floor	MTR	280	644.64	1,80,499.20
21	40001924				
	Supply, Installation, of Cat 6 24 Port				
	loaded , Modular Jack Pane MAKE- D- LINK				
	Ground Floor	NO		4027 64	1 927 61
	40001960	NO	1	4827.61	4,827.61
22	Supply of 10/100/1000 gigabyte smart				
	managed switch with 4 SFP port, 16				
	ports(Make-Netgear)				
	Ground Floor	NO		10400.89	10,400.89
23		INO		10400.03	10,100.07
	40002092				
	Supply, Installation, Testing &				
	Commissioning of 25 x 5 MM copper				
	flat (Insulated / through 1.5" diameter				
	super quality PVC pipe) from lightning				
	air terminal to earth electrode on wall /				
	ceiling/concrete column/under buried				
	trench by proper saddling & making				
	connection at both ends the and				
	making good the damages caused. All				
	the work should be carried out as per				
	the specified specifications and				
	instruction of the Engineer-in-Charge				
	Make of PVC Pipe :- AKG / KINJAL /				
	ORIPLAST S.				10 102 20
	Ground Floor	MTR	20	509.11	10,182.20
24					
	4000005				
	40002095				
	Supply, Installation, Testing &				
	Commissioning of maintenance free chemical earthing having enhancing				
	chemical compound with 3 Mtr. Long				
	copper bonded steel rod and suitable				
	termination clamp including all				
	accessories. Make :- ABB / STAR-X /				
	UNIVERSAL All the work should be				
	carried out as per the specified				
	specifications and instruction of the				
	Engineer-in-Charge.				
	Ground Floor	NO	2	16650	33,300.00

~-			1	1	
25					
	40002266				
	Supply and Fixing of 160 AMP.				
	TPMCCB [35 KA] with 200 AMP. 415				
	VOLT CUT OUT - 03 NOS WITHOUT				
	METER SPACE O/G-100AMP 4PMCCB-				
	4 NOS with 200 AMP , 25 / 6 MM.				
	COPPER BUS BAR - 04 NOS,				
	INSTRUMENTS- 0 -160 AMP.				
	AMMETER WITH SELECTOR SWITCH -				
	01 SET ,160 / 5 AMP. CT - 01 SET, 0 -				
	500 VOLT. VOLTMETER WITH				
	SELECTOR SWITCH - 01 SET				
	,INDICATING LAMP WITH				
	CONTROLLING SWITCH - 01 SET				
	including all accessories and				
	connections as per instruction of				
	Electrical Engineer-in- Charge. [make-				
	(a)Mcb /Mccb - Legrand/				
	Schnider/Havells Crabtree/ ABB, (
	b)volt meter, ammeter-AE/IMP, (d) all				
	other acessories ISI mark]				
	Ground Floor	SET	1	55000	55,000.00
26	40002777				
	Main Distribution Board -Incoming				
	power Distribution panel/ board				
	suitable for flush mounted type made				
	of 14 SWG sheet with MS angles				
	channels suitable sizes, gasket,				
	powder coated, top & bottom				
	terminals and properly painted with				
	anticorrosive primer and paints,				
	comprising the following: [Make-				
	(a)MCB /MCCB - Legrand /L&T /ABB				
	/SCHNIDER /ANCHOR-PANASONIC (
	b)Volt meter, Ammeter-AE/CAPPA, (d)				
	all other acessories ISI mark]				
	Incoming 400 AMP. TPMCCB [35 KA] -				
	01 SET 400 AMP. 415 VOLT CUT OUT -				
	03 NOS METER SPACE WITH				
	LOCKING ARRANGEMENT OUT				
	GOING 500 AMP, 40 / 6 MM. COPPER				
	BUS BAR - 04 NOS 200 AMP. TPMCCB				
	[25 KA] - 03 SETS INDICATING LAMP				
	AND CONTROLLING SWITCH - 03				
	SETS FOR 125 AMP. TPMCCB				
	INSTRUMENTS 0 –400 AMP.				
	AMMETER WITH SELECTOR SWITCH -				
	01 SET 400 / 5 AMP. CT - 01 SET 0 -				
	500 VOLT. VOLTMETER WITH			40-00-	1.05.000.00
	SELECTOR SWITCH - 01 SET	NO	1	125000	1,25,000.00

	40003159 Supply & fixing of 6 Way VTPNDB IP 43-Metal Door Incoming: 1 No of 125 A Four Pole MCCB with stud connector Outgoing: 3 nos 40 A TPMCB with sheet steel encloser, distribution board, on surface/ recess, complete with tinned copper bus bar, neutral bus bar, earth bar, din bar, detachable gland plate, interconnection, phosphate and power painted including earthing etc as required.(SI. No- 2.3.6,2.7,)[Make- (a)MCB /MCCB -Legrand/L &T/ABB/SCHNIDER/ANCHOR- PANASONIC)				
	Ground Floor	SET	1	30845	30,845.00
	40008126 Supply and fixing of 250 mm sweep air ventilating fan with Louvers (PVC BODY) fan with connecting wire and all accessories including fixing and connections. [MAKE- USHA MODEL-CRISP AIR VX/CROMPTON MODEL-VENTILUS/HAVELLS/ANCHOR) Ground Floor	NO	1	2063.32	2,063.32
2	40008158 Supply and fixing of 1200 mm BLDC (ISI mark 5 star rated)(28wt with aluminium blade)ceiling fan (without remote) with connecting wire and all accessories including hanging and connections [MAKE- USHA MODEL- TECHNIX/ CROMPTON MODEL- ENERGIA GROOVE /V-GUARD /HAVELLS MODEL-EFFICIENCIA NEO/ANCHOR-PANASONIC MODEL- PENTA TURBO) Ground Floor	NO	9	3897.52	35,077.68

3					
	40008385				
	Supply and fixing of on 15 watt				
	round/square shape slim recessed				
	mounted led panel with dia cast				
	housing finished in white powder				
	coating False ceiling with comprises				
	of aluminium die cast housing				
	finished in white powder coated &				
	ABS white ring . The downlighter is				
	pre-wired with high efficiency				
	electronic driver. High traslucent				
	frosted diffuser is used to get glare				
	free, smooth light distribution.				
	Operating Voltage Range : 150V~ -				
	270V, PF : > 0.9, 100 Lum/Watt with				
	lamp , choke, connecting wire, and all				
	accessories and connections .(Make-				
	CROMPTON(MODEL NO-LSCRM-15W-				
	CDL/LSCSM-15W-CDL)/				
	PHILIPS(MODEL NO-15W DURASLIM				
	ROUND/SQUARE				
	165MM/WIPRO(MODEL NO-LD80-131-				
	XXX-60-XX)				
	Ground Floor	NO	12	1554.89	18,658.68
4					
	4000000				
	40008389				
	Supply and fixing of on 34/36watt				
	square (2'x2')shape slim recessed				
	mounted led panel with dia cast				
	housing finished in white powder				
	coating False ceiling with comprises				
	of aluminium die cast housing				
	finished in white powder coated &				
	ABS white ring . The downlighter is				
	pre-wired with high efficiency				
	electronic driver. High traslucent				
	frosted diffuser is used to get glare				
	free, smooth light distribution.				
	Operating Voltage Range : 150V~ -				
	270V, PF : > 0.9, 100 Lum/Watt with				
	lamp, choke, connecting wire, and all				
	accessories and connections .(Make-				
	CROMPTON(MODEL NO-TCR-145-36-				
	65-SL-NWH (36				
	WATT)/PHILIPS(MODEL NO-RC360B				
	LED36S 36W 3600)/WIPRO(MODEL NO				
	CRCO10R038HP57G3)				
	Ground Floor	NO	43	2420.40	37,673.52
		NO	12	3139.46	31,013.32
5					
	40008393				
	Supply and fixing of 9 WT. LED Bulb				
	installred at angle holder/ batten				
	holder.(Make- CROMPTON/				
	PHILIPS(MODEL NO-AceSaver				
	9W)/WIPRO(MODEL NO-N09001)				
	Ground Floor	NO	7	142.6	998.20

7 40008495 Supply of 6U wall mounted rack including all accessories and	576.64
Supply and fixing of 4 FT 20 W LED Tube light fitting with lamp including fixing and connections (Make- CROMPTON(MODEL NO-CCS-102- 20- 65-SL-DP-NWH/ PHILIPS(MODEL NO- SLIMLINE NEXT 4'/ WIPRO(MODEL NO-LL20-221-XXX-65NE3) Ground Floor NO 16 723.54 11,5 7 40008495 Supply of 6U wall mounted rack including all accessories and	76.64
Tube light fitting with lamp including fixing and connections (Make-CROMPTON(MODEL NO-CCS-102- 20-65-SL-DP-NWH/ PHILIPS(MODEL NO-SLIMLINE NEXT 4'/ WIPRO(MODEL NO-LL20-221-XXX-65NE3) Ground Floor NO 16 723.54 11,5 7 40008495 Supply of 6U wall mounted rack including all accessories and	76.64
fixing and connections (Make-CROMPTON(MODEL NO-CCS-102- 20-65-SL-DP-NWH/ PHILIPS(MODEL NO-SLIMLINE NEXT 4'/ WIPRO(MODEL NO-LL20-221-XXX-65NE3) Ground Floor NO 16 723.54 11,5 7 40008495 Supply of 6U wall mounted rack including all accessories and	76.64
CROMPTON(MODEL NO-CCS-102- 20-65-SL-DP-NWH/ PHILIPS(MODEL NO-SLIMLINE NEXT 4'/ WIPRO(MODEL NO-LL20-221-XXX-65NE3) Ground Floor NO 16 723.54 11,5 40008495 Supply of 6U wall mounted rack including all accessories and	76.64
65-SL-DP-NWH/ PHILIPS(MODEL NO-SLIMLINE NEXT 4'/ WIPRO(MODEL NO-LL20-221-XXX-65NE3) Ground Floor NO 16 723.54 11,5 7 40008495 Supply of 6U wall mounted rack including all accessories and	76.64
SLIMLINE NEXT 4'/ WIPRO(MODEL NO-LL20-221-XXX-65NE3) Ground Floor NO 16 723.54 11,5 7 40008495 Supply of 6U wall mounted rack including all accessories and	576.64
NO-LL20-221-XXX-65NE3) Ground Floor NO 16 723.54 11,5 40008495 Supply of 6U wall mounted rack including all accessories and	76.64
Ground Floor NO 16 723.54 11,5 7 40008495 Supply of 6U wall mounted rack including all accessories and	76.64
7 40008495 Supply of 6U wall mounted rack including all accessories and	576.64
40008495 Supply of 6U wall mounted rack including all accessories and	
Supply of 6U wall mounted rack including all accessories and	
including all accessories and	
connection/make D link/Medal no	
connection(make-D-link(Model no-	
NWR-6U-5545-GR)/MOLEX/DIGISOL)	
Ground Floor NO 2 5919.7 11,8	39.40
8	
40008505	
Supply & fixing of cat-6 UTP cable,4	
pair,23AWG,FRPVC CM for LAN wiring	
with conduit pipe / PVC casing caping	
/ under floor G.I. Tunk line. MAKE- D-	
LINK(MODEL NO-NCB-	
C6UGRYR)/DIGISOL/MOLEX)	
	373.90
9	, 5., 0
40008507	
Supply & fixing of patch cord,cat-	
6,utp,24awg,grey,lszg ,1mtr(Make-D-	
LINK(MODEL NO-NCB-C6UGRYR1-1-	
LS)/DIGISOL/MOLEX)	
	347.00
10 NO 27 161 4,3	T/.00
40008509	
Supply & fixing of patch cord,cat-	
6,utp,24awg,grey,lszh ,2mtr(Make-D-	
LINK(MODEL NO-NCB-C6UGRYR1-3-	
LS)/DIGISOL/MOLEX)	
	22 75
	33.75
11	
40008511	
Supply & fixing of information outlet	
with faceplate, single port , modular	
straight shu and keystone,cat-6	
utp,white,toolless type(MAKE-D-	
LINK/MOLEX/DIGISOL)	
	65.25
40008513	
Supplying & fixing of patch panel ,24	
PORT,CAT-6 UTP 180 Degree	
including all accessories and	
connections(Make-D-Link(Model N o-	
NPP-C61BLK241)/MOLEX/DIGISOL)	
	90.00

NO-DG-GS1528)/MOLEX) Ground Floor 14 40009316 Supply and installation of 2.0Tr.(5 Star) Inverter Split type Air Conditioner with supply and fixing of 5 KVA ,130-280 Volt voltage range wall/floor mounted stabiliser including all accessories, fastner angle copper piping up to 15ft & connections MAKE of A.C. — CARRIER MODEL NO- EMPERIA DX/BLUE STAR MODEL NO- IA/ICS24DNU,MAKE OF STABILIZER- AUTOTEK/V-GUARD/MICROTEK Ground Floor NO 5 58489.22 2,92,444 15 40010011 Supply and fixing of 24 Port Layer2 Giga (10/100/1000BaseT) PoE Switch with 4 x 1Gig SFP Port , Switching Capacity 56 Gbps, Throughput 41.7 Mpps, Management Port 1 x RJ 45 Console port, PoE power budget 370 Watt, Switch should support IEEE 802.3af & IEEE 802.3at standard ,MAC Address 16K , Jumbo Frame 12K , Temperature Working 0°C-50°C, storage -40°C-70°C, Power Supply AC: 100-240VAC. All hardware should supplied with necessary mounting	13	40008586 Supply and fixing of 24 Port Gigabit Smart Managed Switch with 4 Gigabit SFP Ports including all accessories and connection(Make-D-LINK(MODEL NO-DGS-1210-28)/DIGISOL (MODEL				
40009316 Supply and installation of 2.0Tr.(5 Star) Inverter Split type Air Conditioner with supply and fixing of 5 KVA, 130-280 Volt voltage range wall/floor mounted stabiliser including all accessories,fastner angle copper piping up to 15ft & connections MAKE of A.C. – CARRIER MODEL NO- IA/IC524DNU,MAKE OF STABILIZER- AUTOTEK/V-GUARD/MICROTEK Ground Floor 15 40010011 Supply and fixing of 24 Port Layer2 Giga (10/100/1000BaseT) PoE Switch with 4 x 1Gig SFP Port, Switching Capacity 56 Gbps, Throughput 41.7 Mpps, Management Port 1 x RJ 45 Console port, PoE power budget 370 Watt, Switch should support IEEE 802.3af & IEEE 802.3at standard ,MAC Address 16K , Jumbo Frame 12K , Temperature Working 0°C-50°C, storage -40°C-70°C, Power Supply AC: 100-240VAC. All hardware should supplied with necessary mounting		NO-DG-GS1528)/MOLEX)	_			1.6.677.00
Supply and installation of 2.0Tr.(5 Star) Inverter Split type Air Conditioner with supply and fixing of 5 KVA,130-280 Volt voltage range wallifloor mounted stabiliser including all accessories,fastner angle copper piping up to 15ft & connections MAKE of A.C. – CARRIER MODEL NO- EMPERIA DX/IBLUE STAR MODEL NO- IA/IC524DNU,MAKE OF STABILIZER- AUTOTEK/V-GUARD/MICROTEK Ground Floor NO 5 58489.22 2,92,444 15 40010011 Supply and fixing of 24 Port Layer2 Giga (10/100/1000BaseT) PoE Switch with 4 x 1Gig SFP Port , Switching Capacity 56 Gbps, Throughput 41.7 Mpps ,Management Port 1 x RJ 45 Console port ,PoE power budget 370 Watt, Switch should support IEEE 802.3af & IEEE 802.3at standard ,MAC Address 16K , Jumbo Frame 12K ,Temperature Working 0°C-50°C, storage -40°C-70°C, Power Supply AC: 100-240VAC. All hardware should supplied with necessary mounting	14	Ground Floor	NO	1	16675	16,675.00
40010011 Supply and fixing of 24 Port Layer2 Giga (10/100/1000BaseT) PoE Switch with 4 x 1Gig SFP Port , Switching Capacity 56 Gbps, Throughput 41.7 Mpps ,Management Port 1 x RJ 45 Console port ,PoE power budget 370 Watt, Switch should support IEEE 802.3af & IEEE 802.3at standard ,MAC Address 16K , Jumbo Frame 12K ,Temperature Working 0°C~50°C, storage -40°C~70°C, Power Supply AC: 100~240VAC. All hardware should supplied with necessary mounting		Supply and installation of 2.0Tr.(5 Star) Inverter Split type Air Conditioner with supply and fixing of 5 KVA ,130-280 Volt voltage range wall/floor mounted stabiliser including all accessories,fastner angle copper piping up to 15ft & connections MAKE of A.C. – CARRIER MODEL NO-EMPERIA DXI/BLUE STAR MODEL NO-IA/IC524DNU,MAKE OF STABILIZER-AUTOTEK/V-GUARD/MICROTEK		5	58489.22	2,92,446.10
Supply and fixing of 24 Port Layer2 Giga (10/100/1000BaseT) PoE Switch with 4 x 1Gig SFP Port , Switching Capacity 56 Gbps, Throughput 41.7 Mpps ,Management Port 1 x RJ 45 Console port ,PoE power budget 370 Watt, Switch should support IEEE 802.3af & IEEE 802.3at standard ,MAC Address 16K , Jumbo Frame 12K ,Temperature Working 0°C~50°C, storage -40°C~70°C, Power Supply AC: 100~240VAC. All hardware should supplied with necessary mounting	15					
years of comprehensive onsite warranty. Make: Netgear/Tejas/HP)		Supply and fixing of 24 Port Layer2 Giga (10/100/1000BaseT) PoE Switch with 4 x 1Gig SFP Port, Switching Capacity 56 Gbps, Throughput 41.7 Mpps, Management Port 1 x RJ 45 Console port, PoE power budget 370 Watt, Switch should support IEEE 802.3af & IEEE 802.3at standard, MAC Address 16K, Jumbo Frame 12K ,Temperature Working 0°C~50°C, storage -40°C~70°C, Power Supply AC: 100~240VAC. All hardware should supplied with necessary mounting brackets and IN power cord with 3 years of comprehensive onsite warranty. Make: Netgear/Tejas/HP)				50,025.00

	•				
	40010015 Supply and fixing of 802.11ax WiFi6 Dual Band Access Point with 3.55Gbps aggregate wireless throughput and Dual-band 4x4:4 MU- MIMO with DL/UL OFDMA technology. Complying PoE+ for power, with inbuilt on premise virtual controller as well cloud based controlling and administration of WiFi systems All hardware should supplied with necessary mounting brackets and IN power cord with 3 years of comprehensive onsite warranty. Make:Netgear/Tejas/HP) Ground Floor	NO	2	30475	60,950.00
	40010654 Recessed wiring to Ceiling Fan Point (MODULAR)with 1.5 sq.mm FR PVC insulated single core multistrand copper conductor of ISI marked with 20 mm dia non metalic PVC flexible conduit with 5 Amp, 250 V one way modular switch ISI marked including U TYPE HOOK,SOCKET TYPE REGULATOR and ceiling rose ISI marked mounted on MS Box having front bakelight cover of suitable size, MS Box with 1.0 sq.mm FR PVC insulated single core multistrand copper conductor as earth wire including all accessories and connection . (Make of wire Finolex / Anchor / Havels/ V guard) Make- switch/regulator/ceiling rose-Legrand /Wipro-North West /Anchor- Panasonic/ havells)(Make of PVC pipe- AKG/NORPACK) Ground Floor	NO	9	1516.85	13,651.65
	Total Cost(PART-A+PART-B+PART-	NU	9	1516.85	13,031.03
	C)				1932848.19
	Cess @1%				19328.48
	Total Estimated Cost				19,52,176.67
	Total Estimated Cost in Figures				19,52,177.00
EXCESS	LESS (Please Tick)			%	, ,
	Quoted Amount in Figure				

Quoted Amount in words	
------------------------	--

N:B- The Estimated cost is exclusive of GST .

Signature of Tenderer with seal

Sd/-Asst. Project Manager[Elect.] Sd/-DM (Elect.) I/C

Sd/-Project Manager(Elect.)